
■ 次の1次関数について、𝑥 の変域が[     ]のように指定されたときの 𝑦 の変域を答えなさい。

① 𝑦 = －3𝑥－6　　[ 1≦𝑥≦3 ] ④ 𝑦 = 𝑥＋4　　[ －3≦𝑥≦4 ]

② 𝑦 = 6𝑥－3　　[ －2≦𝑥≦3 ] ⑤ 𝑦 = －5𝑥＋1　　[ －4≦𝑥≦3 ]

③ 𝑦 = －4𝑥＋7　　[ 0≦𝑥≦3 ] ⑥ 𝑦 = 2𝑥－2　　[ －3≦𝑥≦－1 ]
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② 𝑦 = 6𝑥－3　　[ －2≦𝑥≦3 ] ⑤ 𝑦 = －5𝑥＋1　　[ －4≦𝑥≦3 ]
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－5≦𝑦≦7 －8≦𝑦≦－4

𝑥 = 3 のとき、𝑦 = －4×3＋7 = －5

𝑥 = 0 のとき、𝑦 = －4×0＋7 = 7

𝑥 = 3 のとき、𝑦 = 6×3－3 = 15 𝑥 = 3 のとき、𝑦 = －5×3＋1 = －14

𝑥 = －3 のとき、𝑦 = 2×(－3)－2 = －8

𝑥 = －1 のとき、𝑦 = 2×(－1)－2 = －4

－15≦𝑦≦－9 1≦𝑦≦8

－15≦𝑦≦15 －14≦𝑦≦21

𝑥 = －2 のとき、𝑦 = 6×(－2)－3 = －15

𝑥 = 3 のとき、𝑦 = －3×3－6 = －15

𝑥 = 1 のとき、𝑦 = －3×1－6 = －9 𝑥 = －3 のとき、𝑦 = 1×(－3)＋4 = 1

𝑥 = 4 のとき、𝑦 = 1×4＋4 = 8

𝑥 = －4 のとき、𝑦 = －5×(－4)＋1 = 21
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